EA ﬁa Mini Teardrop Cover Yamaha Warrior

Clistorm Accessoriss
M‘rﬂ‘f_f‘i“fmm—}& o
et ki

/ BA-7653-00/07 Page: 1

Revision: 1.1 - 03/16/2010

| Pleaseread ALL of theinstructions BEFORE beginning the installation.

INCLUDED IN THEKIT:

(2) M4 Lock Washers (1) M5 Flat Washer

(2) M4 Flat Washers (1) M5 Nut

(2) M4x10 Hex Screws (1) M6x10 Hex Screw

(2) M6 Chrome Flat Washers (1) M5x10 Hex Screw

(2) M6x12 Button Head Chrome Screws (1) Mounting Bracket

(1) M6 Flat Washer (1) Mini Teardrop Bracket

INSTRUCTIONS:

NOTE: We recommend the use of Blue Loctite on all fasteners and mounting hardware
Warrior Installation

Thisaccessory will cover your throttle bodieswhen the stock air box has been removed (aswith a Baron Stealth
Big Air Kit installation).

1. Onright side of motor cycle youll find a bronze-colored bracket attached to thetop of the throttle bodies.
Thisbracket has one M6 threaded hole and one unthreaded holein it. Thisistheattachment point for the new
Teardrop Cover mounting bracket. Use the supplied M 6x10 hex screw, M5x10 hex screw, M5 & M6 flat
washersand M5 nut to secure bracket to throttle bodies.

2. Using supplied M 4x10 hex screws and washer s, place alock washer and a flat washer on one of the M4
screws, and install this screw with washersinto the cover bracket, coming in from behind the bracket (use blue
Loctite or equivalent here).

3. Hold new Teardrop Cover up to bracket and reach behind and start screw into cover (use caution - it isvery
tight behind this area).

4. Install 2nd M4 screw/washer combo (with L octite) into other hole.
5. Tighten both screwswith an end wrench.

6. Install the two chrome M 6x12 screws and washersin the holes left from the removal of stock air cleaner.

Our ingtall guides provide a basic outline on the proper installation of our products. Further tuning and/or
fitment may be required. Barons bears no responsibility on installation costs associated with this product.
© 2024 Bar ons Custom Accessories

5221 Oceanus Drive * Huntington Beach, CA 92649 < (657)200-3840 - Ph. * (714)901-0520 - Fax * www.baronscustom.com ¢ tech@baronscustom.com



